# **RESOLUTION NO.** 43 - 10CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER Janus Singer 184 DAY OF October , 2010. ON THE

A RESOLUTION ACCEPTING THE BID SUBMITTED BY AMERICA'S DECORATIVE CONCRETE, LLC, OF GREENVILLE, OHIO, FOR THE LOOP ROAD SIDEWALK INFILL PROJECT (PROJECT SS-3) AND AUTHORIZING THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville intends to construct approximately 900 feet of sidewalk on the west side of Loop Road just north of SR 725 (Alex-Bell Road) and ADA curb ramps at the intersection with SR 725, and

WHEREAS, The City of Centerville was awarded New Freedom Funds on an 80% (federal) – 20% (city) match through the Federal Transit Administration in cooperation with the Greater Dayton Regional Transit Authority as solicited by the Miami Valley Regional Planning Commission, and

WHEREAS, The City of Centerville advertised for bids for the Loop Road Sidewalk Infill Project according to specifications prepared by the City, and

WHEREAS, America's Decorative Concrete, LLC, was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

<u>Section 1</u>. That the bid submitted by America's Decorative Concrete, LLC, for the Loop Road Sidewalk Infill Project (Project SS-3), marked as Exhibit "A," attached hereto and made a part hereof, is hereby accepted in the amount of \$42,345.00.

Section 2. That the City Manager is hereby authorized and directed to enter into any necessary contract to evidence acceptance of said bid and to make payment pursuant thereto.

Section 3. That the City Manager is hereby authorized to expend up to an additional \$4,200.00 for contingencies during the project. This results in approval of a total amount up to \$46,545.00. The New Freedom Grant will fund 80% (\$37,236.00) and the City will fund 20% (\$9,309.00).

Section 4. This resolution shall become effective at the earliest date allowed by law.

PASSED this 18th day of October\_\_\_\_, 2010.

Mayor of the City of Centerville, Ohio

ATTEST:

1. Clames Clerk of Council, City of Centerville, Ohio

#### CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number 43-10passed by the Council of the City of Centerville, Ohio on the 18th day of October , 2010.

James Clerk of Council

Approved as to form, consistency with existing ordinances, the Charter and Constitutional Provisions. Department of Law

Scott A. Liberman Municipal Attorney

### **BIDDER'S PROPOSAL**

#### Loop Road Sidewalk Infill Project

Submitted by: Amarca's HERDRATIVE CONCRETE, LLC

Having read the specifications and examined the drawings included herein:

### Loop Road Sidewalk Infill Project City of Centerville, Ohio

for the construction of said project in Centerville, Ohio, and having also taken into account all addenda issued, the undersigned hereby propose to furnish all materials and to perform all labor, as specified and described in the said Specifications and as shown in the Plans for the said work, for the following sums:

### A. STATEMENT BY ALL BIDDERS:

The receipt of the following Addenda to the Contract Document (drawings and specifications) is hereafter acknowledged.

Addenda No	Date <u>October 11, 2010</u>
Addenda No	Date
Addenda No.	Date

## **B.** COMPLETION DATE INFORMATION

The bid price reflected above represents a completion date of November 19, 2010.

### C. CONTRACT PREPARATION INFORMATION

The bidder shall supplement proposal by supplying the following information for use in the preparation of the Contract.

NAME OF COMPANY/CORPORATION: AMERICAS DEDNATIVE Concere, LLC
NAME OF PRESIDENT: MATTITELS C. THOMASON
ADDRESS: 1857 5r. 7. 571 W
CITY, STATE, ZIP: GRADUNCE, Otto 45331
FEDERAL TAX I.D. # :
TELEPHONE #: 937/968.4195
FAX#:
E-MAIL: adc_concrete e Vahoo.com

# D. EXECUTION OF PROPOSAL

4

,

NOTE: Failure to sign proposal shall result in rejection of bid.

THIS PROPOSAL SUBMITTED BY: Amarcas haonance Concreme, LLC					
(NAME OF CONTRACTOR)					
BY:					
(SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE)					
MATTHENT C. THOMPSONT, SOLE MEMBER					
(PRINTED NAME AND TITLE)					
•					
DATE: OCTOBER 13, 2010					
Contact person for Contract processing: KEITH LANT					
Mailing address if different from above: <u>SAME AS ABOVE</u> .					

.....

## UNIT PRICE SHEET

.

IAY BE	REFEREN	TERVILLE MATERIAL AND CONSTRUCTION S NCED FOR A MORE COMPLETE DESCRIPTION ( ILY SIGNED PROPOSAL TOGETHER WITH THE	OF THE IT.	EMS LIS	FED. RETURN O	NE (1) FILLED-IN
REF. NO.	SPEC. NO.	DESCRIPTION	EST'D. QUANT.	UNITS	UNIT PRICE	AMOUNT BID
1	201	Clearing and Grubbing	1	LS	1720.00	#1720.00
2A	202	Sidewalk / Shared Use Path / Ramp Removed	450	SF	1.50	# 675.00
2B	202	Curb & Gutter Removed	150	LF	6.00	\$ 900.00
3	203	Grading	1	LS	750.00 .	\$ 750.00
4A	604	Gas / Water Valve Adjusted to Grade	1	ĒΛ	50	T 50
4B	604	Traffic Box Adjusted to Grade	1	EA	100.00	+ 100.00
5A	608	Concrete Sidewalk, 4" thick	7500	SF	3.15	+28,125
5B	608	Concrete Curb Ramp, 6" thick	100	SF	4.50	\$ 450.00
5C	608	Detectable Warning (Brick Paver)	50	SF	12.00	+ 600.00
6	609	Concrete curb, incl. complete asphalt restoration	150	LF	26.00	# 3,900. co
7	614	Maintaining traffic	1	<u>LS</u>	750	* 750
8	623	Construction Layout Staking	1	LS	385	t 385. w
9	630	Traffic Sign and Post, Remove and Re-crection	1	EA	100.00	4 100.00
10	659	Restoration incl seeding/mulching, etc		LS	5600.2	+5600.00
**					Total	* 44, 105. w
ALT-I	SPEC	Flat and Angle Sawing of Curb (instead of removal)	80	FT	10.00	+ 800.00

Note: The items and quantities listed above are projected, and may be modified or removed at the City's discretion. Therefore, avoid weighting items because actual quantities could change substantially from the engineer's estimated quantities.

		Base Bil	B44,105.00
202 609 SPEC	Curbo + Gather Permoned - 80 Concrete curb, incl. cophart - 80 Flat & Angle Sawing of Curbo + 80	LF 26.00 FT 10.00	- 480.00 -2080.00 + 800.00

24

5

Attachments - Page 8 of 14 (Addendum 1)